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No. s EE | 5AE | BINE EhE | BAE | CAEAESE | KA HR
1 [BEFHLS 0.07 0.07 0.07 0. 0.07 0.07 5
2 | KB FHILIS 0.04 0.05 0.04 0. 0.04 0.05|EBsR. LRBLE. LEiE 5
3 |HEFHILIG 0. 04 0.04 0.04 0. 0.04 0.04 5
4 |=ZBEFHIL5 0.05 0.06 0.05 0. 0.05 0. 06| 515 7H 5
S |FE kBT —FHIL5 0.04 0.06 0.04 0. 0.04 0. 06|55 7 5
6 |HETFHLIS 0.05 0.08 0. 05 0. 0.05 0. 08|15 dkdE 6
1 | FHILS 0.05 0.05 0.05 0. 0.05 0.05 5
8 |hMEFHLIG 0.05 0.05 0.05 0. 0.05 0.05 5
9 |IRHFFHFHRILE 0. 04 0.05 0. 04 0. 0. 04 0.05|EBsR. LRBLE. LEEE 5
10| ZBEHE-FHILE 0. 05 0.07 0.05 0. 0.05 0.07|=BdtE. LBkmE. LE@E 5
11| AT F L5 0.05 0.05 0.05 0. 0.05 0.05 5
12| P E X L5 0.05 0.05 0.05 0. 0.05 0.05 5
BIEHIAZIa=T 1465 0. 04 0.05 0.04 0. 0. 04 0.05|EBk. EBiE. KEEE 5
MAHFAZI 2 =T 4 L5 0.05 0.05 0.05 0. 0.05 0.05 5
5| FEAZa=T14L15 0. 04 0.04 0.04 0. 0.04 0.04 5
16 /NRFH L5 0. 04 0.04 0.04 0. 0.04 0.04 5
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